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I  continuation of discussion about 1"vp
a  revisiting n”a2»7’s interpretation of v1: 73 must be able to serve 4 nnn3 to be valid
b challenge: all 0’93, regardless of size, sanctify waters for 1"vp (as long as they are nw ")
i answer (NNX 72 NTX 77): this is if he drills a hole in the large 93 to lead to the small one
ii  challenge: v. 1 stipulates ynn - how can he use “secondary 5”?
1 answer: y¥nM expands to allow for secondary 93
2 challenge: if so, why not allow 910 »55?
(a) answer (72a8):1"p from the base (33)
(b) if: 19, which is anointed with 713, cannot be used
(c) then certainly: 5m *93, which aren’t anointed at all, cannot be used
(i) clarification: source for unfitness of 19 — v. 2, per N’ "1’s comment — only equated for nwim
(d) challenge (822275): the 13 isn’t made for using its 7n; unlike 51 %>
(i) rather: vann excludes 5 *53; NW ") are included via x¥nv
1. mark of distinction: N7 73 require nnown, unlike %M "
I 5"2w7’s rule about 712 "M ARD ‘N NRYWA vs. Y27 NRNYVA
a equation: any (liquid) which can fill out the necessary 1w for nko 'n can fill out 713 'n MYV, but not for my’11 for »v)
i question: what liquid did he have in mind (that works for 1121 mpn but not for »1)?
ii  cannot be: lightly muddy water (if a cow will drink from it, counts for both; if not, counts for neither)
iii  rather: must be little red water critters
1 challenge: these can count even as the complete amount for the mpn (not just as nnYwn)
(a) per:3aw7’s ruling — anything created from the sea can be used for mpn
(i) application (’07728 72 PNy’ ’7): even an eye of a fish!
iv  rather: distinction must be in case of NRD Y01 NRD M (replacing water):
1 z2:rmxnpe if a mpn was exactly 40 nko and he added 1 nxo (of o'9108 ©'n) and removed a nxro- valid
(a) caveat (72117 79): only until a majority of the water is from the added o108 o1
(b) note (97):if he drilled a hole in this mpn and created a crevice of a y»17, it may be used for n%av of
small instrumests (e.g. needles), since it comes from a 7> Mmpn
I %"avv’s ruling regarding mpn 'n and 913 ™
a 57wy mpn n may be used for 73 m
b challenge: 72 ' are supposed to be n»n n'n (coming from a spring), which is not required for mpn »m (except for ar)
i proof: v. 3 requires that the fats be washed in n’n, which excludes wine (and even ») but extends to “other wa-
ters” —and 1p that 92 »n are valid for this purpose
1 assumption: the v'p is built on the assumption that 915 'n are o»n o'n and the 1y is to include o»n on
2 rejection: the v"p is that 913 »n are sanctified and called 7v> »n — the v is to the actual 913 n
(a) block: modified nomenclature excludes (i.e. must be “just 0n”), per YR1W 27 RIN
3 rather:V"p is to actual 73 ', and whether they must be p»n o'n is a dispute (1yn 'n) HRYnWY’ "3 vs. oNIN
IV analysis of 500 #7 — 5
a  source: ™ —not from nwn NN but from S8p? —v. 4
i question: how do we know that an 5y invalidates?
1 answser:v.5
b xn7772 v. 4 refers to "ox7w (not literal 133-12), per 1% Yy; called “stranger” (121 12) asa he has become estranged from 'n
i extending to: a non-circumcised jn3 per 1w1a 57y
1 justification: if we only had 7wa 57, R"70 that he is Y019 because he is VRn (rejected), but not 25 57y
(a) and if: we only had 1% %1», ®"10 he invalidates because his heart isn’t directed to 'n, unlike w1 % - 5"np
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